BUZ1

1234

R9

R1(Q
150

BUZZER
Q1
BC847B
ABCDEFG DP
|
I CpepHuii KoHTaKT R3| | R4] | R5] | R6] | R7| | R8
C maruika Ha npuGopke 150 150 150 150 150 150
R11
?
Ul
0 0 1‘5‘ PBO/ICP1 PCO/ADCO ij
< Pevocia PCUADCL [—
<>—1 pea/ssiocis PC2/ADC2 [=2=
= PB3/MOSI/OC2 PC3/ADC3
R12 D1 C4 _12 PB4/MISO PC4/ADC4/SDA 2;
? 5.1V 0,1mF = PesiscK PCS/ADCSISCL [===
<5 PBe/TosCLXTALL PC6/RESET |
= PB7/TOSC2/XTAL2 )
PDORRXD [—=
PDLTXD [—
- - - PD2/INTO [—=
PD3/INT1 [—=
PDAITOIXCK f=ur
u2 ” PD5/TL ===
+12V ——] AREF PD6/AINO
7805 20 13
AvCC PD7/AINL
' I vo I->—e ATMEGA8
5 ==
2 c3 L c2
(0] —
C1 10u 100nF
| 100nF N




